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u=(-210), v=(-15)

v=24+50=SL
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Determine if the vectors are parallel,

Find the angle between the two vectors.
B) u= (-35), v=(-2-6)

brthogonali or neither.

e
2

B) m= (-3,5), v={-2,-6)

Wey = 6+ (30)=-24
Mot orthogenal

-
— -

S‘OFC-:% 5[!?{ Y t-lb
(W

-

Not Purulltl

D) u = (~210), v=(1-5)

Usy > -2 + {-QU) =-51
(\I'23 od—haﬂma\
m <9

m= 2
- ‘ i
Pa.rulh‘
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PRE-CALCULUS: by Finney, Dem:
Chapter 6: Applications of Trigonometry

N e

Nocth weg +
3

e Parametric Equations/Parametric Curves/Eliminating the Parameter
e Lines and Line Segments/Simulating Motion with a grapher

ana, W
6.3: Parametric Equations and Motion
— —

What you'll Learn About

A ship is heading northwest at 12 mph.

a. Find the component form of the ship after
)(:.lsk-p’(oﬁb Y= !5“{*[5'1.\9

)(-:_IQr:¢7‘;I'}5lb \['-‘—l:l'sinng’
315°

Directisn \3g”
. Find the component form of the ship aﬁe

-~ 0
X =Y 60613‘30 y:.;l*-l {\n13‘9

¢. Find the component form of the ship afier 3 hours.

x=3bcos35°  Y=3bsialdS

d. Write the parametric equations for the boat

L

Y = 12£ (o525 3:\a{saq1=>s
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For the given parameter interval, graph the parameltic equations
A. x=t-2 y=3t onthe intervat N

$=
x=4%2 y=3< -

t 1 x Y i
__Q_"J\O L 1
= A T o
2 |2 |0
BEN RS

B. x=t-2 y=3t ontheinterval 0sr<5

C. x=t'-2 y=3t ontheinterval -3<¢<1

D. x=t*-2 y=3t ontheinterval —w<r<x
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